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- x*2=16, x==*4

- x2=18, x=+18=+32
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(1) ax’=bOFBIzLTHD, XERDET,

3x*—4=5 - 3x*+3=5 - BxP-2=2x"+1

3x*=9 3x?=2 6x2 —2x° =142
x*=3 XZ:E 4x* =3
x=+3 3 23
x=+ |2 4

’ x=t |2 =+ M3
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@ (x+a) =bDWIT LT, XERDHET,

- (x=2)*=5 - X2 +6x+9=4 - X' —4x=2
x—2=+5 (x+3)* =4 X*—4x+4=2+4
x=2++5 X+3=142 (x—2)* =6

x=-3+2=-1-5 X—2=+6
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3 REGREFIRLIMBES

WG, (x—a)(x—b)=0&L725 L&, x—a=0F7iEx-b=0%DT, x=a, bTY,

- x*4+2x-15=0 - 2x2-3x=0 - 3P —2X+1=2x*+x+5
5)(x—3)=0 2 _ay_ A
(x+5)(x=3) 2x(x-2) =0 x*—3x-4=0
x=-5,3 2 (x+1)(x-4)=0
x=02 x=-14
2
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_h+4/h% —
R a4 X4 C = 0 DRI, X = b-“sa A8 n s L AR LETS

ZONRRKE O] LV nvET,

- X*+5x+3=0 - 3x*-2x-4=0
. 5457 —4x1x3 -5x.13 2+/(-2)? —4x3x(-4)
— = X =
2 2 2x3
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5 ZHBADME L HRED K

“wITREA(x—a)(x=b) =0 Dfi#iX, x=a,b THHZ b,

X’ —(a+b)x+ab=07T, xfFEiT—(a+b) , THomEiTab &5,

X2+ x+1=00fiixab +t35L, a+tb=—1, ab=1¢t7%%,
X2 +2x+3=00fixabld5L, a’+ab+b*DfEr k254, abrkdTH

a’+ab+b? = (a+b)’—ab = (-2)° —3=1 L KB = LNTX 5,



